DL4100 Series Corbin Z

Auxiliary Deadlock | Russwin
Installation Instructions ; E . AB LOY

Auxiliary Deadlock

1 Confirm lockset is the correct bevel for the door. If not, loosen the screws fastening front to case.
Rotate front to proper bevel and retighten screws.

QUTSIDE

2  Prepare door and frame using template T31180. FRON\ —— —
. . . NS // COLLAR
3  Mount lock using two combination screws. > |a .D 2PN P
4 Place cylinder thru cylinder collar and screw into lock. U J]
(See Figure 1) o 3 P
NOTES: F|gure 1
- Pull key slightly out of cylinder to help thread into lockbody. OUTSIDE FacE oF

- Cylinder must be oriented correctly. (See Figure 2) S

MOTE: KEY AND CYLINDER Figure 2

MUST BE ROTATED AS SHOWN

S T

CORRECT INCORRECT \ D}

5 Tighten appropriate set screw into cylinder. //@5/@ ﬂ
a8 P

6 Attach turn-piece as shown. (See Figure 3) Yﬁx““‘

TURNPIECE

For 4122 function, turn-piece must be inverted. (See Figure 4) NS pon o

For ergonomic turn-piece, see alternative instructions on page two.

e

Y,
[

d }al
4113, 4117, 4160 4122 /% [

FUNCTIONS FUNCTION
7" Attach outside front using two 1/4” machine //g e /&

screws. (See Figure 1) /

B%) [ figures |

g | Install strike and strike box (optional) using two . Strike box (optional)

combination screws. (See Figure 5)

@

Corbin Russwin is a brand associated with ASSA ABLOY Access and Egress Hardware Group, Inc., an ASSA ABLOY Group EX ri n f r
company. Copyright © 2011, 2020, ASSA ABLOY Access and Egress Hardware Group, Inc. All rights reserved. Reproduction in FM338 03/20 pe €nce a satc
whole orin part without the express written permission of ASSA ABLOY Access and Egress Hardware Group, Inc. is prohibited. 1 dan d more o pen World



The ASSA ABLOY Group is the global leader cOrbin ®
in access solutions. Every day we help Russw'“ Z

people feel safe, secure and experience |
a more open world. Y '
Ergonomic Turn-Piece

1. Afterinstalling the lockbody, insert the alignment tool.
2. Place back plate over the alignment tool and use a
carpenter’s square to orient. (See Figure 6) el gk I
3. Mark three screw holes and remove backplate, alignment T
. g
tool, cylinder (if applicable) and lockbody. Seexracamys
4. Drill two pilot holes for #6 screws (Wood =3/32” holes,
Metal = Drill[Tap for #6-32 machine screws). | BackPlate
5. Drill 3/16” clearance hole, 1/16” deep for upper mounting
screw.
6. Re-install lockbody and cylinder. (See steps 3-5 on page 1) ™~ ®
7. Install back plate using two #6 mounting screws. i
(See Figure 6) Machine
. . . SCrews
8. Install turn-piece using one #6 machine screw.
(See Figure 7) \’“"‘9’/
/A\ WARNING
This product can expose you
to lead which is known to the For installation assistance contact Corbin Russwin
state of California to cause 1-800-543-3658 « techsupport.corbinrusswin@assaabloy.com
cancer and birth defects or
other reproductive harm.
For more information go to
www.P65warnings.ca.gov.
Corbin Russwin, Inc.
225 Episcopal Road
Berlin, CT 06037 USA Corbin Russwin is a brand associated with ASSA ABLOY Access and Egress Hardware
) Group, Inc,, an ASSA ABLOY G . Copyright © 2011,2020, ASSA ABLOY .
Phone: 800-543-3558 A?c):sps ar:lcd l?;ress Hardware Gﬂr)(l)Juppf?r:Tc].p/iIT{igl?tzyr:gertv?d Reproduction in whole EXperlence d Safer
Fax: 800-447-6714 or in part without the express written permission of ASSA ABLOY Access and Egress

wwiw.corbinrusswin.com Hardware Group, Inc. i prohibitd. 2 s o320 and more open world



